BIC

log[ Relative Probability ]

—200

Window Half—Width (km/s)

10%

5%x10°

2x10°

10

—-100

1000 10*

100

rm020 2/(412614 4983)=0.962

T | T | T | |
i ' ' BIC 456499 75 ABIC O. OOO AlogP 0.0000 ]
- : : x 392068.22 Ax 0.000 AlogP 0.0000 -
e 1 BIC
12N [ — e — —
F- - ---======9="="=-/"7- L|_; """"""" L T ————————————————————————————————————————————————— 'g 2
' X
| ABIC —67470 1143 :( i
, A? —67470 : -20.8
4893 : 4893 : 4983
A | | AC5 :I | AC5F | |
20 40 60 80 100 120
120 iterations
rm020 2/(412614 4983)=0.962
T | T | T | |
i BIC 456499 75 ABIC O. OOO AlogP 0.0000 1
L 5 , i
"""" 4893 | 4893 |l 74983 T
L A AC ACF .
\ 1 \ 1 5 \ 1 ~ 1 .5_ 1 .,
20 40 60 80 100 120
120 iterations
Fe2 15% 265+150 km/s
rm020 BLR 2830 NLR 900 km/s
F T | T | T | T | | !
e e e e e e e e e e e e e e = = — — — J{BLR
S scceccececiccececiccecicioiosog NLR
Fell
120

120 iterations

kdh1 10—

Oct-2021 20:32



